

MAHARASHTRA STATE ELECT. TRANSMISSION CO. LTD.

From:-

Name of Office :- EHV Civil Const. Cum Maint. Division, MSETCL, Amravati

Office address: - Vidhyut Bhavan Shivaji nagar Amravati – 444603

Contact No. :- 0721- 2663659

Email Id :- ee1710@mahatransco.in

EEC/EHV/CCCM/Dn./Amt/ Tech/ 213 Date 07.03.2018

E-QUOTATION

ТО					

Sub: - Chain link fencing of Kabaddi ground & repair works of VIP suite of rest house at 220 kV S/Stn, colony premises, Amravati

Due on : - 14.03.2018

Dear Sir,

Sealed and super scribed Percentage rate quotations are invited so as to reach this office on or before **14.03.2018** up to **15.00** Hours for the execution of various items of works as per the Schedule - 'B' enclosed and as per the terms and conditions given below: -

'TERMS & CONDITIONS'

- 1. The terms and conditions mentioned in the 'Works and Contract Book-let are applicable and copies of same can be purchased by the Contractor (s) on payment of Rs. 50.00 from the office.
- 2. The work shall have to be completed in all respect within a period of **10 days** from the date issue of work order, failing which the Contractor will be liable to pay compensation / penalty at Half percent per week maximum up to 10% of the value of the work order.
- 3. The rates quoted by the Contractors shall include:
 - i. All tools and plants required for carrying out the job.
 - ii. All labor charges required to execute the job.
 - iii. All temporary works required to complete the work including transportation of all required material to site.
- 4. The Company shall supply no material. All materials are required to be procured by the Contractor.
- 5. The work shall have to be carried out as per the 'Standard Specifications' and with best workmanship like manner and to the entire satisfaction of the Engineer-in-charge.
- 6. The Contractor shall be responsible for all accidents occurred / damages caused during the execution of the work He shall have to make good of the same at his own cost as directed.
- 7. The Contractor shall be responsible to abide all prevailing labour laws including the Workman Compensation Act.
- 8. The payment shall be made on the Final Bill basis.
- The successful Contractor shall have to pay Security Deposit amounting to 5% of work order value.
- 10. The quantities in the Schedule 'B' are approximate only and liable for variation.

- 11. The right to reject any or all quotations without assigning any reasons is reserved.
- 12. Any clarification pertaining to work shall be had from the undersigned before submitting the quotation.
- 13. The estimated cost of the work is Rs. 174640 /- (Approx)
- 14. The Contractor shall have to pay Earnest Money Deposit (E. M. D) of Rs. 1750/- along with the guotation in the form of Cash/ D. D. in favour of E.E.(Civil), EHV CCCM Dn. Amravati.
- 15. The Income-tax and other applicable taxes per prevailing rate & rules shall be deducted from Contractor's bill, GST will be applicable as per GST rules.
- 16. Jurisdiction and Deduction clauses are applicable.
- 17. The blank quotation copy shall be available in EHV CCCM Dn. Amt. free of cost, during the working hours from **07.03.2018 to 13.03.2018**.
- 18. The rates quoted shall be inclusive of all taxes etc.

Enclosed: As above.

Sd/-

Executive Engineer (C)
EHV CCCM Division, MSETCL,
Amravati

C.s.w.rs.to:-

1) The Superintending Engineer (C), EHV CCCM Circle Amravati

Copy to :-

- 1) The Dy. Manager (F&A), EHV CCCM Dn. Amravati
- 2) Notice Board
- 3) Master File

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD EHV CCCM DIVISION, AMRAVATI

SCHEDULE B

Name of works - Chain link fencing of Kabaddi ground & repair works of VIP suite of rest house at 220 kV S/Stn, colony premises, Amravati

Sr. No.	Particulars	Unit	Qty	Estimated rate	Amount
1	Excavation for roadway in earth, soil of all sorts, sand, gravel or soft murum including dressing section to the required grade, camber and side slopes and conveying the excavated materials with all lifts upto a lead of 50m.and spreading for embankment or stacking as directed.	Cum	1.30	84.00	109.20
2	Providing and casting in situ cement concrete in M15 of trap/ granite / quartzite / gneiss metal for bed blocks, foundation blocks and such other items including bailing out water, plywood/steel formwork, compacting, roughening them if special finish is to be provided, finishing uneven and honeycombed surface and curing etc. complete. The Cement Mortar 1:3 plaster is considered for rendering uneven and honeycombed surface only. Newly laid concrete shall be covered by gunny bag, plastic, tarpaulin etc. (Wooden centering will not be allowed.), with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer With crushed sand	Cum	2.50	5843.00	14607.50
3	Fabricating & fixing in position existing M. S. angle of size 50x50x6 mm at interval of 2.5m c/c dist. in M15 concrete blocks casted.	MT	0.50	21559.00	10779.50
4	Fabricating & fixing existing chain link fencing (1 labor per 20 Rmt)	Rmt	140.00	27.00	3780.00
5	Providing and fixing mild steel grill gate as per the detailed drawing including hinges, locking arrangements and painting in three coats of oil paint of approved colour and shade etc. complete.(weight 18 kg. to 20 kg. Per Sq.m.)Spec.No.: As directed by Engineer- incharge.	Sqm	3.00	1689.00	5067.00
6	Providing and laying in trenches 20 mm dia. CPVC pipe including necessary excavation, fittings. Refilling trenches etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete	Rmt	12.00	206.00	2472.00

7	Providing and laying in trenches 40mm dia. CPVC pipe including necessary excavation, fittings. Refilling trenches etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete	Rmt	12.00	374.00	4488.00
8	Providing and laying ceramic tiles of having size 30cm x 30cm confirming to I.S.15622/2006 (group DII A) and 7 to 8mm thick for flooring in required position laid on a bed of 1:4 cement mortar including cement float, filling joint with white/colour cement slurry cleaning curing etc. complete.	Sqm	12.50	1157.00	14462.50
9	Providing and laying ceramic tiles of having size 30cm. x 30cm. and confirming to corresponding I.S. for dado and skirting in required position with readymade adhesive mortar of approved quality on plaster of 1:2 cement mortar including joint filling with white/colour cement slurry cleaning curing etc. complete	Sqm	37.50	1166.00	43725.00
10	Providing 25mm to 30mm thick partition of polished black kadappa stone slab of approved quality including giving required size and shape etc. Fixing in cement mortar 1:3 curing and cement etc. complete. a) One side polish	Sqm	1.69	946.00	1598.74
11	Providing and fabricating structural steel work for supporting over head water tank of 1000 litres at height of 2 m from base in rolled sections like joists, channels, angles, tees etc. as per detailed design and drawings or as directed including cutting, fabricating, hoisting, erecting, fixing in position making riveted/bolted/ welded connections without connecting plates, braces etc. and including one coat of anticorrosive paint and over it two coats of oil painting of approved quality and shade etc. complete. Make- Jaguar or equivalent by prior approval from the corresponding S.E. incharge.	MT	0.70	62907.00	44034.90
12	Providing & supplying skilled labor	Day	6.00	612.00	3672.00
13	Providing & fixing in position white glazed earthen ware wall Hung type water closet, black inlet, 'P' trap C.I. bracket with C.P. bolt matching seat cover & fixing concealed type, C.P. flush valve with 40 mm size control cock & required length operating lever assembly & connecting its outlet to the W.C. pan etc. all complete. Make- Jaguar or equivalent by prior approval from the corresponding S.E. incharge.	No.	1.00	14690.00	14690.00

14	Providing & fixing in position glazed earthen ware flat back wash hand basin fixed on granite top as required, connecting its outlet with C.P. waste coupling to drain line, with fixing C.P. longneck pillar cock, angle cock with wall flange & C.P. connecting etc. all complete. Make-Jaguar or equivalent by prior approval from the corresponding S.E. in-charge.	No.	1.00	8700.00	8700.00
15	Providing & fixing in position C.P. wall mixer with 115 mm long bend pipe & wall flange complete with over head shower & shower arm. Make- Jaguar or equivalent by prior approval from the corresponding S.E. in-charge.	No.	1.00	2448.00	2448.00
	Total Rs.				174640.00

Sd/-Executive Engineer (C) EHV CCCM Division AMRAVATI

I	am/	we	are	ready	to	execute	the	above	said	wor	k	:			%	, (in	fig.)
_									perc	ent	(in	words)	above	/	oelow	the
e	stimat	ed co	ost.														

Signature of the contractor